rence of a can of soup is about 12 inches. Wh:

(a))4in b 3in. ) 2in.  d)&in

3. The rim of Jan's cereal bowl has a circumference of 12 inches. Which of the follow
statements is NOT true about Jan's cereal bow!? '

a) The diameter of the cereal bowl is about 4 inches.

b) The radius of the cereal bowl is about 2 inches.

@The radius of the cereal bowl is about 4 inches.

d) The radius of the cereal bowl is half its diameter.

4. If a circle has a diameter of 5 centimeters, what is its circumference? Use 3.14 for 1.

15T ¢m

5. Estimate first. Then find the actual circumference of the circle using 3.14 formm. R
the nearest tenth, if necessary.

Estimated Circumference: qo M

Actual Circumference: 51‘4 : Q m

6. The figure below shows a top view of a circular track. How far woulc
around the entire track one time? Use 3.14 for .
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. Which formula could be used to find the area of the circle shown to the right?
a) A=mn(30)* b) A =n(30) :
' A = n(15)* d) 4=m(15) l'I';-

10. A cookie cake has a diameter of 9 inches. What is the approximate area of the cake? |
Use 3 for 1. SR

: i I'r

U?O ' q 5 in d

11. Which expression could be used to find the diameter of a circle with a radius of 2.75 inches?

SIS =D 27542 c) 275+3 d) 30+3
)

For questions 12-20, complete the table for circles.T{I_se 3.14 for 7 ‘.
Write only your answers inside the chart. _.—-————————-\ I
Radius Diameter |Circumference
12) 13)

& iga 25120m | 24

15) | 2l
——— ‘q ) - : '.I —t s




